E 0 & AHE E A A

=M =g

=M uF- 838 (SH9 H2)

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
ASaE2 18,820,357 12,533,200 6,287,157
SIS 2 3,328,592 3,333,495 24,903
=M ws - g4 1,378,592 1,383,495 24,903
MNEs =AU LS 344,447 349,350 24,903
201 fer= 3| 60,097 65,000 24,903
2 3522l 97 5,000 24,903
Os8xtg =2 2el 97 5,000 24,903
o= EXRX 8,444,600 6,583,600 1,856,000
ANRRES H= HN 8,444,600 6,583,600 1,856,000
Q=0 EXXY Z&(2IEEXH) 1,856,000 0 1,856,000
403 MR HHMSAHE01H 1,856,000 0 1,856,000
01 MXIHHA 22 1,856,000 0 1,856,000
0= EXXY &4 1,856,000 0 1,856,000
I8t =Y 6,313,000 1,863,000 4,450,000
== S0 & HAOHE 25 6,313,000 1,863,000 4,450,000
KIS AAOHIE X2 (GHRAAE JHE) (HEALY) 3,100,000 0 3,100,000
308 AHXIEMSOIH 3,100,000 0 3,100,000
18 SIS0t oA AS A 3,100,000 0 3,100,000
O 201 HADAE X 3,100,000 0 3,100,000
XSS OIAIE R (SHRAHIOI =) (M EALY) 200,000 0 200,000
308 XXM SOIA 200,000 0 200,000
13 SI[2SOHE B & EAS A 200,000 0 200,000
O=& 2012 aidtol = 200,000 0 200,000
SAJY =58 25 2,853,000 1,713,000 1,140,000
306 £= 2,300,000 1,600,000 700,000
01 9= 2,300,000 1,600,000 700,000
OdiMRA 2E 2,300,000 1,600,000 700,000
308 AHXIEMSOIH 440,000 0 440,000
18 SIS0t & AAS At 440,000 0 440,000
Ot IR A HIoloTE = A X 30,000 0 30,000
Odllel #a0E &= X3 100,000 0 100,000
O=HSS(Ews) X 30,000 0 30,000
OZ224 HI=UA HEdIo] 280,000 0 280,000
Saf2d A X3 10,000 0 10,000
308 AHXIEMSOIE 10,000 0 10,000
18 SIS0t & HAS A 10,000 0 10,000
ORgel & JI84A 10,000 0 10,000
HH2LIH(ENSLF M) 92,580 106,520 A 13,940
JlE2ZHl(EnSaE) 92,580 106,520 213,940
JlE2ZH(ENSaEAR) 92,580 106,520 213,940
201 Ler23 | 40,800 47,600 26,800




2A ENSARHD

MM BHSAAY|(SNSAFUD)

&l JI2H(SASAER2) (St &)
SA -3 - A(3) - MISA - B85 Oi &F2H N3 Hws2Z

01 AFS2t2ltl 40,800 47,600 26,800
OSNSHHM A2FX 40,800 47,600 26,800
202 Ot 39,600 46,200 26,600
01 =WHO4 LI 39,600 46,200 26,600
OFNsaEH IO 39,600 46,200 6,600
203 PR =&H| 12,180 12,720 yANGY
04 2A2LHE=NH 3,780 4,320 AB40
SENSHEM2 3,780 4,320 AB40




